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AL &Y o fem 5 2 & - k0 AR 2R F R ILG hip i (backward
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FEFFFY FRAFAR: P ERRF(CTTE M‘lﬁmﬁ‘i‘ﬁ% LB RSk
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e {7 B 3B > T 19 3% 15 £ Nash equilibrium gz 4 v E2pFF > &1
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Up(1) 2 Up(2) -

& ”‘T'Ul p(1)=p(R—ry) — (1 —p)(ry=%; yli)_K1)—21YE)
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Z FEE(stage )i e 4 g KB A5 & » LR EF I Sl 0 T3
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EENCRIF
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1
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0Ty (r1,r2;X1,X2;21,Z2)

ary _( ){7/[()(2 Xl)(l p) (Z Z)][rl (1 p)(31X1+K1) blzl

r; —r;— (K, —Kq)(1—p)
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x;—x%1)(1—hp)—(Z2—Z1)
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1
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ind __ T2~ T1—(Kz—Ky)(1—hp)

Yhp — (xz—x1)(1—hp)—(Z5— Z)]L *~(413)5 ¢ 5
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Bt 92 (o —x2) (1= P) =z 7 2] el 1 — (Ko~ K, ) (1= p)] (1)) o
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